Duals of \mathcal{H} and $N\mathcal{H}$ **0000**

A commutative hexagon **oo**

イロト 不通 トイモト イモト 一王 一の久で

A commutative hexagon.

CO739, Winter 2020

激いた

200

The Grossman Larson Hopf algebra

The graded dual of Connes-Kreimer is also a named Hopf algebra.

The <u>Grossman Larson Hopf algebra</u> of rooted trees is a Hopf algebra defined on $\text{Span}_{K}(\mathcal{T})$, trees not forests.

Product is grafting the subtrees of the left tree onto the right tree.

Eg
$$1 \cdot \wedge = \wedge + \wedge + \wedge$$

 $= \wedge + 2 \wedge$
 $\wedge \cdot 1 = \wedge + \wedge + \wedge + \wedge$
 $= \wedge + 2 \wedge + \wedge$
Exception of the second sec

Duals of \mathcal{H} and $N\mathcal{H}$ A commutative hexagon 0800 00 the unit for the nultiplical isit in J) is (not empty the which isit in J) **Grossman Larson coproduct** Coproduct is deshuffle subtrees, giving each side a root. $Eg \Delta(\Lambda) = - \otimes \Lambda + \otimes \Lambda$ $+ \sqrt{2} + \sqrt{2} + \sqrt{2} = + 1 \otimes 1 + 1 \otimes 1 + 1 \otimes 1$

It is graded and connected and so a Hopf algebra in the usual way. by number of edge degree 0 is $\text{Span}_{k}(\bullet) \cong K$

マロン (語) マヨン (語) モー のへで

Duals of $\mathcal H$ and $N\mathcal H$ 0000

A commutative hexagon **oo**

Duality

Grossman-Larson is dual to Connes-Kreimer, though exactly how is a little subtle.

First, remove the root in Grossman-Larson, then both are defined on trees, and the operations of Grossman-Larson still make sense.



Duals of \mathcal{H} and $N\mathcal{H}$ 000 A commutative hexagon **oo**

イロト (書) イモト (き) き のなび

Noncommutative Grossman-Larson

The same story works noncommutatively giving a noncommutative version of Grossman-Larson and the graded dual to NH.

Duals of \mathcal{H} and $N\mathcal{H}$ **0000**

A commutative hexagon

Extending the square



- ベロン (語) (注) (注) (注) モーのへび

Duals of ${\cal H}$ and $N{\cal H}$ 0000

A commutative hexagon **O**

Extra space

Nood to cleck
$$A_{+}$$
 is a 1 cocycle

$$\Delta A_{+}(M_{c}) \qquad ((i\partial \otimes A_{+})\Delta + A_{+} \otimes 1)(M_{c})$$

$$= \sum_{d \in c i} M_{a} \otimes M_{b \cdot 1} + M_{c} \otimes 1 = (id \otimes A_{+})\Delta(M_{c}) + A_{+}(M_{c}) \otimes 1$$

$$a \cdot b = c$$